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𝒏𝒊|𝑿𝒊 − 𝑿̅||𝑿𝒊 − 𝑿̅|

𝑋̅ =
∑𝑛𝑖𝑋𝑖

∑𝑛𝑖
 =  

3610

100
= 36.1

𝐸𝑥 =  
∑𝑛𝑖|𝑋𝑖 − 𝑋̅|

∑𝑛𝑖
=  

2592.2

100
= 25.92

𝒏𝒊(𝑿𝒊 − 𝑿̅)𝟐(𝑿𝒊 − 𝑿̅)𝟐

𝑋̅ =
∑𝑛𝑖𝑋𝑖

∑𝑛𝑖
 =  

524

40
= 13.1



 رابعتمارين وحلول المحور ال
 

  
 

 

89 

𝑉(𝑥) =
∑ 𝐧𝐢(𝑋𝑖 − 𝑋̅)2𝒏

𝒊=𝟏

∑ 𝑛𝑖
𝑛
𝑖=1

 =  
4284.52

40
= 107.113

δ(x) =  √𝑉(𝑥)√107.113 = 10.349

𝑐𝑣 =  
δ(x)

𝑋̅
=  

8
400

𝑛

= 0.10

𝑛 =
0.1 × 400

8
=  5

𝑋̅ =
∑ 𝑋𝑖

𝑛
𝑖=1

𝑛
 =  

135

5
= 27

𝑦̅ =
∑ 𝑋𝑖

𝑛
𝑖=1

𝑛
 =  

135

5
= 27
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𝑆𝑋 =  √
∑𝑋𝑖

2

n
−  𝑋̅2 =  √

5953

5
− 27 = 34.11

𝑆𝑦 =  √
∑𝑦𝑖

2

n
− y2 =  √

4175

5
− 27 = 28.42

 


